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 BLPI-002   

CERTIFICATE IN SERICULTURE (CIS) 

Term-End Examination 

February, 2021 

BLPI-002 : HOST PLANT CULTIVATION 

Time : 2 hours Maximum Marks : 50 

Note :  Attempt any five questions. All questions carry 

equal marks. 

 

1. What is the concept of Chawki Mulberry  

Garden ? Discuss about the maintenance of 

Chawki Mulberry Garden. 4+6 

2. Differentiate between the following : 42
2
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(a) Compost preparation and Vermicompost 

preparation 

(b) Row system of planting and Paired row 

system of planting 

(c) Pruning and Leaf picking (harvesting) in 

mulberry plants 

(d) Air layering and Ground or Trench layering 
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3. Name one fertilizer each for providing the NPK 

for the mulberry plant. What is understood by 

application of 60 : 30 : 60 NPK ? Explain how to 

calculate the quantity of nitrogenous fertilizer 

suggested by you for supply of 60 kg of nitrogen 

per hectare. 3+3+4 

4. (a) Name the primary food plants of Muga 

silkworm. Discuss their distribution in 

different parts of India. 4 

(b) Describe the agronomic practices for 

cultivation of castor. 6 

5. Describe the mulberry cultivation practices for 

North India. 10 

6. (a) Write the importance of mechanization in 

mulberry cultivation. 5 

(b) Name two tools/implements with their 

functions used for land preparation for 

mulberry plantation. 5 

7. Name any two most popular varieties of 

mulberry. Discuss cultivation practices of 

mulberry in East/North-East India. 2+8 

8. Write short notes on the following : 

(a) Nursery preparation for a mulberry garden 5 

(b) Pollarding 5 
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 ~r.Eb.nr.AmB©.-002  

 ao_eH$sQ> nmbZ _| à_mU-nÌ (gr.AmB©.Eg.) 

gÌm§V narjm 

\$adar, 2021 

 

~r.Eb.nr.AmB©.-002 : nmofH$ nm¡Yo H$s IoVr 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> : {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$ g_mZ 

h¢ & 
 

1. Mm°H$s ehVyV ~mJmZ H$s AdYmaUm Š`m h¡ ? Mm°H$s ehVyV 

~mJmZ Ho$ aIaImd Ho$ ~mao _| MMm© H$s{OE & 4+6 

2. {ZåZ{b{IV _| A§Va ñnï> H$s{OE : 42
2
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(H$) H$ånmoñQ> V¡`ma H$aZm Am¡a d_u-H$ånmoñQ> V¡`ma H$aZm> 

(I) n§{º$ àUmbr nm¡YmamonU Am¡a `wp½_V n§{º$ àUmbr 

nm¡YmamonU> 

(J) ehVyV Ho$ nm¡Ym| _| H$mQ>-N>m±Q> Am¡a n{Îm`m| H$s Vw‹S>mB© 

(K) Jy§Q>r ~m±YZm Am¡a ^y{_ AWdm ImB© _| Xm~ bJmZm 
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3. ehVyV Ho$ nm¡Yo Ho$ {bE EZ.nr.Ho$. CnbãY H$amZo Ho$ {bE 
àË`oH$ EH$ Cd©aH$ H$m Zm_ {b{IE & 60 : 30 : 60 
EZ.nr.Ho$. Ho$ Cn`moJ go Š`m A{^àm` h¡ ? à{V hoŠQ>ò a  
60 {H$J«m ZmBQ´>moOZ H$s Amny{V© Ho$ {bE AmnHo$ Ûmam gwPmB© 
JB© ZmBQ>́moOZr` Cd©aH$ H$s _mÌm H$s JUZm {H$g àH$ma  
H$a|Jo ? ì`m»`m H$s{OE & 3+3+4 

4. (H$) _yJm aoe_H$sQ>m| Ho$ àmW{_H$ nmofH$ nm¡Ym| Ho$ Zm_ 
{b{IE & ^maV Ho$ {d{^Þ ^mJm| _| BZHo$ {dVaU H$s 
MMm© H$s{OE & 4 

(I) Aa§S>r H$s H¥${f Ho$ {bE gñ` nÕ{V`m| H$m dU©Z 
H$s{OE & 6 

5.  CÎma ^maV _| ehVyV H$s H¥${f gå~ÝYr nÕ{V`m| H$m dU©Z 
H$s{OE & 10 

6. (H$) ehVyV H¥${f _| `m§{ÌH$sH$aU Ho$ _hÎd Ho$ ~mao _| 
{b{IE & 5 

(I) ehVyV nm¡YmamonU Ho$ {bE ^y{_ H$s V¡`mar hoVw Cn`moJ 
{H$E OmZo dmbo Xmo Am¡µOmam|/CnH$aUm| Ho$ Zm_ Am¡a 
BZHo$ H$m`© {b{IE & 5 

7. ehVyV H$s {H$Ýht Xmo gdm©{YH$ àM{bV {H$ñ_m| Ho$ Zm_ 
{b{IE & nyd©/CÎma-nyd© ^maV _| ehVyV H$s H¥${f g§~§Yr 
nÕ{V`m| H$s MMm© H$s{OE & 2+8 

8. {ZåZ{b{IV na g§{jßV {Q>ßn{U`m± {b{IE : 

(H$) ehVyV ~mJmZ Ho$ {bE Zg©ar H$s V¡`mar 5 

(I) H$Q>mB© (nmobm{S>ªJ) 5 

 


